Antwoorden kerstquiz 

	Groep 5:
	Groep 6:
	Groep 7:
	Groep 8:

	1. B
2. C
3. € 2,35
4. 108
5. C
6. 7 tasjes / 5 over
7. 112
8. 570
9. 9 pakjes
10. C
11. 585
12. 387
13. 256
14. 8
15. B
16. beide zijn even zwaar
	1. C
2. € 349,-
3. 3/8 deel
4. 7/10 deel
5. Nick
6. Jason
7. 42
8. 3000 m = 3 km
9. 6000 m = 6 km
10. C
11. 22:15 uur
12. 20 + 10 + 1 + 0,10 + 0,05
13. 1088
14. 5800
15. 10,8 kg
16. € 355,-
       € 557,-
       € 2516,-
	1. 40 dm3
2. 5/8 deel
3. 120
4. 30
5. 485
6. € 196,-
7. 18
8. 3 keer doos C
9. 1 keer B, 1 keer C
10. 23:02
11. € 15,82
12. € 10,72
13. € 5,25
14. 8257
15. 7600 g / 1,9 kg
16. zondag 24 november
17. € 26,10
18. 489
19. beide zijn even groot
20. 42.691
	1. 12
2. Eefke
3. 4 uur en 48 minuten
4. 23:55 uur
5. € 134,15
6. 321 en 320 (verschil = 1)
7. van alles één
8. 1/4 deel
9. 4786
10. 608
11. 1.986.750
12. € 1,99
13. 606,5 miljoen
       427,7 miljoen
14. 2055
[bookmark: _GoBack]15. 21
16. 86
17. 1,8 dm3
18. -6 graden
19. 875 
20. 80 / € 43,20
21. € 720,-
22. 12,64 seconden



